Year 11 Analvtical Geometry Test

Kevin

. Aand B are the points (2,~1) and (-4,3) respectively.
(a) Find the distance from A to B. ;
(b) Find the co-ordinates of the midpoint of the interval AB.
(c) Find the co-ordinates of the point P which divides the interval AB externally in the ratio 5:3.
(d) Find the gradient of the line AB.
(e) Find, to the nearest minute, the angle of inclination of the line AB to the positive x axis.
(f) Find, in general form, the equation of the line AB.
2) Find the equation of the line through A parallel to the x axis.

2. The line PQ has equation x +3y —2 =0 and the point R has co-ordinates (-5,4).
(a) Find the co-ordinates of the point where the line PQ cuts the x axis. '
(b) Find the perpendicular distance from the point R to the line PQ.
(c) Find, in general form, the equation of the line through R perpendicular to the line PQ.
(d) Find the co-crdinates of the point S. S is the foot of the perpendicular from R to the line PQ.

3. Find the equation of the line inclined at 120° to the positive x axis and cutting off an intercept of
-2 on the y axis.

4, Find, to the nearest minute, the acute angle between the lines 3x-y+5=0 and 7x+2y-3=0.
5. Find the value of k for which the lines 2x — 5y =9 and kx + 4y = 13 are parallel to each other.

6. M(7,2), N(1,-3) and P(5,-1) are the vertices of triangle MNP.
(a) Find the length of the interval MP.
(b) Show that the equation of the line MP is 3x — 2y - 17 =0.
(c) Find the perpendicular distance of point N from the line MP.
(d) Hence find the area of triangle MNP.

7. A(-1,-3), B(3,2), C(-2,6) are three vertices of parallelogram ABCD.
(a) Find the co-ordinates of the fourth vertex D.

(b) Show that diagonal AC is perpendicular to diagonal BD.
Wiitt does this imply about parallelogram ABCD ?
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